9stufige Grauskalierung zwischerL* gn=4.0 undL* gaw=96.0,Ygre=1.8, Normierung: grauU

C*0an=4-0, L*0au=50.0, L 0aw=96.0, Yoan=0.4, Yoa 7 18-4, Yoaw=90.0, Coay=Yoaw: Yoan=203.2

L* A L*in=15.7,L%tay=50.0,L*1an~93.3, Ytan=2.0, Ytau=18.4,Y1an=83.6,Gray=Ytaw: Yan=40.9
1004 n0.i L*0a L*Or YOa YOr : L*a Al*a L*tr Yta (L*r) Y119(Lxtr) 1/1.19| *Qr
()9 90 10 900 10; 933 10 836 1,000 0,000
11.0
8 845 0875 650 0721 823 0858 60.9 0,879 -0,004
10.9
75T 7 730 075 452 049 714 0718 428 0,757 0,007
10.8
6 615 0625 298 0328 606 0579 288 0,632 -0,007
i 106
50+ @5 500 05 184 0201 50.0 0442 184 0504 -0,004
3 103
@+ 385 0375 104 0111 39.7 0309 111 0,373 0,002
: 9.6
@: 270 025 51 0.052 30.1 0185 6.3 0,242 0,008
25+ 1
' 8.3
@2 155 0125 20 0017 218 0079 35 0,118 0,006
1 6.1
@ 40 00 04 00 157 00 20 0,000 -0,000
0~ AL*..=115 i=12..9 Normierung: Yi5iu=Yo. UM% _
ta=11. (i=1,2,...,9) ai aU Yo FYoref $=0,0001
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